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Fuente: IDAE
Datos provisionales.  

4.849 m2

213.239 m2

8.911 m2

34.646 m2

9.022 m2 1.501 m2

11.661 m2

56.204 m2

3.310 m2
7.845 m2

19.321 m2

58.199 m2

12.473 m2

82.358 m2

78.362 m2

TOTAL: 700.433 m2
95.731 m2

65 m2 36 m2Ceuta Melilla
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Captador solar; 
20%�

Materiales del 
campo de 

captación; 10%�

Sistema de 
acumulación; 26%�

Sistema de 
regulación y 
control; 5%�

Obra civil ordinaria; 
5%�

Mano de obra de la 
instalación; 11%�

Costes de 
comercialización; 

5%�

Margen industrial 
bruto; 18%�
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